SYEARLLB
FINAL

LAW RELATED MATTERS
Who is the source of legal authority or sovereignty in India?

(A) The People of India

(B) The Constitution of India
(C) The Parliament of India
(D) The President of India

Under Section 6 of the Hindu Minority and Guardianship Act, 1956 the natural
guardian of a minor child is

(A) Father

(B) Mother

(C) Both Father and Mother
(D) Either Mother or Father

Rule of Law means

(A) Absence of arbitrary power

(B) Equality before the Law

(C) The Constitution is the result of the ordinary law of the land
(D) All of the above

The President of India is elected by

(A) Proportional representation by Members of the Parliament
(B) Proportional representation by single transferable vote

(C) The people of India by a list system

(D) The people of India directly

At what stage is a country deemed to have consented to the terms of the International
Treaty

(A) Signature

(B) Ratification

(C) Accession

(D) Enactment into a domestic law



The judge of a High Court is appointed by

(A) The Governor of the State
(B) Chief Justice of India

(C) The President of India

(D) The Vice- President of India

Constitutionality of the AADHAAR was decided in which case?

(A) Supreme Court Advocates-on-Record Assn. v. Union of India (2016)
(B) Justice Puttaswamy v. Union of India

(C) Union of India v. K.A. Najeeb

(D) GautamNavlakha v. National Investigation Agency

Which is the apex body on national development priorities and strategies with the
involvement of the states?

(A) Niti Aayog

(B) National Development Council
(C) Central Vigilance Commission
(D) Union Public Service Commission

Right to Information Act came into force in which year?

(A) 2002
(B) 2004
(C) 2005
(D) 2007

What is filed in case of a violation of one’s fundamental right?

(A) Plaint

(B) Writ petition
(C) Complaint
(D) Affidavit

Who is the current Chief Justice of India?

(A) Sharad Bobde

(B) Ranjan Gogoi

(C) Nuthalapati Ramana
(D) D.Y.Chandrachud



The ‘Sabarimala case’ was decided in which of the following?

(A) S.Mahendran v. The Secretary, Travancore

(B) Travancore Devaswom Board v. State of Kerala
(C) Indian Young Lawyers’ Assn v. State of Kerala
(D) Kesavananda Bharati v. State of Kerala

Amongst the following which Article describes the Free Legal Aid for an accused?

(A) Article 20
(B) Article 21
(C) Article 22
(D) Article 39-A

Match the following
List -1 List - II
a. Enacted law 1. Legislation
b. Case law 2. Agreement
c. Customary law 3. Precedent
d. Conventional law 4. Custom

(A) a-1,b-2,c-4,d-3
(B) a-1,b-2,c-3,d-4
(C) a-1,b-3,c-4,d-2
(D) a-3,b-1,c-4,d-2

The retirement age of a Judge of High Court of Kerala is

(A) 58
(B) 60
C) 62
(D) 65

The writ of Habeas Corpus will be issued if

(A) Detention is legal

(B) Detention is prima facie legal
(C) Detention is prima facie illegal
(D) Detention is primarily illegal



17.

18.

19.

20.

21.

22.

Which one of the Constitutional amendment introduced the anti-defection provisions
in the Indian Constitution for the first time?

(A) 51" Amendment Act
(B) 52" Amendment Act
(C) 53" Amendment Act
(D) 54" Amendment Act

The Judges of the International Court of Justice are elected by the

(A) Security Council

(B) General Assembly

(C) General Assembly upon recommendation of the Security Council

(D) General Assembly and the Security Council independently of one another

Whoever entices a girl child of less than 16 years has said to have caused kidnapping
out of the keeping of the lawful

(A) Parents

(B) Guardians

(C) Foster Parents
(D) Adopted Parents

If there is a dispute about the election of President in India, to whom will it be
referred?

(A) Attorney General of India
(B) Parliament

(C) Supreme Court

(D) Solicitor

What do you mean by the term ‘Lockout’?

(A) A key for a lock lost

(B) When the factory is closed once and for all

(C) When the factory is closed by the employer to force the workers to accept the
imposed terms

(D) None of the above

When was the Nuremburg Trial conducted?

(A) As soon as the world war I was over
(B) As soon as the world war II was over
(C) As soon as Napoleon was defeated
(D) None of the above



23. What is Muta - Marriage?

(A) Temporary marriage

(B) Old man’s marriage with a young girl
(C) Old woman’s marriage with a young man
(D) None of the above

24.  The ‘Legal Education’ is controlled by
(A) UGC
(B) Advocates Act

(C) Bar Council of India
(D) Judiciary

25. Which country in the world first appointed a woman judge?

(A) United States of America

(B) India
(C) England
(D) Turkey

REASONING/ LOGICAL THINKING

Direction (Questions 26-30): Read the following information carefully and choose the
appropriate option in the questions given below

A Confectioner is making gift boxes of chocolates. Each box will contain exactly two
kinds of chocolates (white and dark) to be selected from X, Y, and Z and 3 kinds of
imported Swiss and Belgian chocolates to be selected from A, B, C, D, and F, with
the following restrictions:

4)) Y cannot be in the same box as F
(I) A cannot be in the same box as D
(III) B cannot be in the same box as F

26. If Y is included in the box, which of the following must also be included?

(A) X
B) Z
<G A
(D) B



27.

28.

29.

30.

31.

If Z is not included in a box, any of the following can be included except

(A) A
(B) B
€ C
(D) F

Which of the following chocolate must be included in each of the boxes?

A) X
B) Y
<€ A
D) C

If F is included in a box, the box must also include which of the following kinds of
chocolates?

(A) XandY
(B) XandZ
(C) AandC
(D) Cand D

In a box that contains an acceptable assortment of chocolates, which of the following
substitutions will always result in another acceptable assortment?

(A) AforD
(B) BforC
(C) FforA
(D) FforB

Find the missing number in the following series
27,30, 36, ............ , 57

(A) 39
B) 42
(C) 45
(D) 51



32.

33.

34.

35.

36.

Find the missing number in the following series
2,7,17,32,52,77, ccoeennen....

(A) 107
(B) 91
(C) 101
(D) 92

If ‘BRAIN’ is coded as ‘YIZRM’ in a particular coded language, then how ‘SWORD’
will be coded in that language

(A) RJKUF
(B) HDLIW
(C) CKLED
(D) DRNQI

Direction: There exists some relationship between the terms to the left of the sign (::)
as between the terms to its right. Find the missing term.

CLAIM : DNDMR :: CHARGE : ............

(A) DJDVLK
(B) DIDWLL
(C©) DIJCVMK
(D) DIDWKL

Find the odd pair of words

(A) Plumber : Tap

(B) Electrician : Fan

(C) Software : Engineer
(D) Mechanic : Motorcycle

Find the odd man out in the series given below
4,16, 18, 64

(A) 16
(B) 64
C) 4
(D) 18



37. Indentify the pair of number that doesn’t belong with the others

(A) 2:8
(B) 3:27
(C) 4:32
(D) 5:125

38.  Direction: Select the related word from the given alternatives
Anthropologist : Mankind :: Ornithologist : .............

(A) Nature
(B) Lungs
(C) Birds
(D) Herbs

39. Direction: Select the related word from the given alternatives
Odometer : Distance :: Seismograph : .............

(A) Tsunami
(B) Floods

(C) Earthquakes
(D) Avalanche

40. Direction: Select the related word from the given alternatives
Logo : Trademark :: Invention : ............

(A) Copyright

(B) Patent

(C) Para copyright
(D) None of the above

41. If it is ‘Monday’ today, what will be the day after sixty days?

(A) Tuesday
(B) Friday

(C) Sunday

(D) Wednesday

42. 21/09/2021 was a ‘Tuesday’. What was the day of the week on 13/05/20207?

(A) Monday
(B) Wednesday
(C) Saturday
(D) Sunday



43.

44.

45.

46.

47.

By which of the following proposition, the proposition, ‘Some men are not honest’,
is contradicted?

(A) All men are honest
(B) Some men are honest
(C) No men are honest
(D) All of the above

A stipulative definition is

(A) Always true

(B) Always false

(C) Sometimes true, sometimes false
(D) Neither true nor false

Statement 1: Alcohol is bad for people with diabetes
Statement 2: Kevin does not drink alcohol

Assuming that both the statements are true, which of the following statements
follow?

(A) Kevin has diabetes

(B) Alcohol is bad for Kevin

(C) People with diabetes do not drink alcohol
(D) None of the above

Of the four alternatives given below, find the one which is different from the rest

(A) Tall - Short
(B) Bright - Dark
(C) Day - Night
(D) Valley - Depth

Of the four alternatives given below, find the one which is different from the rest

(A) Ball- Socket
(B)  Wrist- Thumb
(C) Body- Hand
(D) Ear-Eye



48. Of the four alternatives given below, find the one which is different from the rest

(A) Snake- Mouse
(B) Goat- Rabbit
(C) Tiger- Deer
(D) Bear- Fish

49. Of the four alternatives given below, find the one which is different from the rest

(A) Lock- Key
(B) Stove- Cylinder
(C) Pen- Pencil
(D) Phone- Charger

50. Of the four alternatives given below, find the one which is different from the rest

(A) TIron- clothes
(B) Kettle- water
(C) Book- copy
(D) Dryer- clothes

51. Direction: In the following question select the related word from the given
alternatives.

(A) lawyer
(B) bench
(C) court
(D) trial

52. Direction: In the following question select the related word from the given
alternatives.

Touch : Feel :: Greet : ..........

(A) Acknowledge
(B) Success

(C) Smile

(D) Manners



53.

54.

55.

56.

57.

Direction: In the following question select the related word from the given
alternatives.

(A)
(B)
(®)
(D)

Calcium : Bone :: Retinol : ..........

Blood
Skin
Nerves
Eyes

Which is the smallest fraction among the following?

(A)

(B)

©)

(D)

|oo (9 N NENCR N
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If A and B together can complete a piece of work in 15 days and B alone in 20 days,
in how many days can A alone complete the work?

(A)
(B)
©)
(D)

60
45
40
30

If 2 men or 3 women or 4 boys can do a piece of work in 52 days, then the same piece
of work will be done by 1 man

(A)
(B)
(©)
(D)

48
36
45
50

Kabir paid Rs. 9600 as interest on a loan he took 5 years ago at 16% rate of simple
interest. What was the amount he took as loan?

(A)
(B)
(©)
(D)

16400
12000
12500
18000



58.

59.

60.

61.

The ratio of the present age of father to that of son is 7:2. After 10 years their ages
will be in the ratio of 9:4. The present ages of the father is

(A) 35 years
(B) 40 years
(C) 30 years
(D) 25 years

A:B=2:3,B:C=4:5andC:D=6:7,thenA:B:C:Dis

(A) 18:24:30:35
(B) 16:24:30:35
(C) 16:22:30:35
(D) 16:24:15:35

The length of the bridge, which a train 130 meters long and travelling at 45 km/hr can
cross in 30 seconds, is

(A) 200 m
(B) 225m
(C) 245m
(D) 250 m

In Cricket League, in first round every team plays a match with every other team. 9
teams participated in the Cricket league. How many matches were played in the first
round?

(A) 36
B) 72
<€) 9
(D) 48



62.

63.

64.

65.

Dhuswant buys lemons at 2 for a rupee and sells then at 5 for three rupees. His gain
percent is

(A) 10%
(B) 15%
(C) 20%
(D) 25%

A and B enter into a partnership with respective capitals of Rs. 20,000 and Rs. 40,000.
At the end of the year, the total profit is Rs. 33,000. If A receives Rs. 15,000 as both
his salary and profit, then what is his salary?

(A) Rs.2000
(B) Rs. 4000
(C) Rs. 3500
(D) Rs. 3000

Pointing to a man on the stage Lata said, “He is the brother of daughter of the wife of
my husband”. How is the man on the stage to Lata?

(A) Son
(B) Cousin
(C) Nephew

(D) Husband

Kumar said to Rita, “Your mother’s husband’s sister is my aunt”. How is Rita related
to that Kumar?

(A) Daughter

(B) Grand Daughter
(C) Sister

(D) Mother

Direction: Read the information carefully and then answer the following question

Six persons are sitting in a circle. A is facing B. B is to the right of E and left of C. C is to
the left of D. F is to the right of A. Now, D exchanges his seat with F and E with B.

66.

Who will be sitting to the left of D?

(A) A
(B) B
€ D
(D) E



67.

68.

69.

Who will be sitting to the left of C?

(A) A
(B) B
C) E
(D) F

Who will be sitting opposite of A?

(A) B
B) D
€ E
D) F

Direction: In the logic problem given below present you with three true statements:
Fact 1, Fact 2, and Fact 3. Then, you are given three more statements (Labeled I, 11
and III) and you must determine which of these, if any, a fact is also. One or two of
the statements could be true; all of the statements could be true; or none of the
statements could be true. Choose your answer based solely on the information given
in the first three facts

Fact 1: Jessica has four children

Fact2: Two of the children have blue eyes and two of the children have brown
eyes

Fact 3: Half of the children are girls.

If the first three statements are facts, which of the following statements must also be
a fact?

I At least one girl has blue eyes
II Two of the children are boys
I The boys have brown eyes

(A) Tonly

(B) IIonly

(C) 1 and III only

(D) None of the statements is a known fact



70.

71.

Direction: In the logic problem given below present you with three true statements:
Fact 1, Fact 2, and Fact 3. Then, you are given three more statements (Labeled I, 1T
and IIT) and you must determine which of these, if any, a fact is also. One or two of
the statements could be true; all of the statements could be true; or none of the
statements could be true. Choose your answer based solely on the information given
in the first three facts

Fact 1 : Robert has four vehicles
Fact 2: Two of the vehicles are red
Fact 3: One of the vehicles is a minivan

If the first three statements are facts, which of the following statements must also be
a fact?

I Robert has a red minivan
I Robert has three cars
11 Robert's favorite color is red

(A) Tonly

(B) IIonly

(C) IIand III only

(D) None of the statements is a known fact

Direction: In the logic problem given below present you with three true statements:
Fact 1, Fact 2, and Fact 3. Then, you are given three more statements (Labeled I, II
and IIT) and you must determine which of these, if any, a fact is also. One or two of
the statements could be true; all of the statements could be true; or none of the
statements could be true. Choose your answer based solely on the information given
in the first three facts

Fact 1: Islands are surrounded by water
Fact2: Maui is an island
Fact 3: Maui was formed by a volcano

If the first three statements are facts, which of the following statements must also be
a fact?

I Maui is surrounded by water
II All islands are formed by volcanoes
I All volcanoes are on islands

(A) Tonly

(B) IIonly

(C) IIand III only

(D) None of the statements is a known fact



72.

73.

74.

75.

Direction. Find the statement that must be true according to the given information

Ten new television shows appeared during the month of September. Five of the shows
were sitcoms, three were hour-long dramas, and two were news-magazine shows. By
January, only seven of these new shows were still on the air. Five of the shows that
remained were sitcoms

(A) Only one of the news-magazine shows remained on the air

(B) Only one of the hour-long dramas remained on the air

(C) At least one of the shows that were cancelled was an hour-long drama
(D) Television viewers prefer sitcoms over hour-long dramas

Direction. Find the statement that must be true according to the given information

Vincent has a paper route. Each morning, he delivers 37 newspapers to customers in
his neighborhood. It takes Vincent 50 minutes to deliver all the papers. If Vincent is
sick or has other plans, his friend Thomas, who lives on the same street, will
sometimes deliver the papers for him.

(A) Vincent and Thomas live in the same neighborhood.

(B) It takes Thomas more than 50 minutes to deliver the papers.
(C) Itis dark outside when Vincent begins his deliveries.

(D) None of the above

The captain of a cricket team of 11 members is 26 years old and the wicket keeper is
3 years older. If the ages of these two are excluded, the average age of the remaining
players is one year less than the average age of the whole team. What is the average
age of the team?

(A) 23 years
(B) 24 years
(C) 25 years
(D) None of these.

A library has an average of 510 visitors on Sundays and 240 on other day. What is the
average number of visitors in a month of 30 days starting with Sunday?

(A) 250
(B) 260
(C) 280

(D) 285



GENERAL ENGLISH
76. Direction: Choose the correct meaning of the legal phrase given below:
Sine die

(A) without fixing a fixed day

(B) adjournment

(C) conclusion of a trail/proceeding
(D) beyond jurisdiction of the court

77. Direction: Choose the correct meaning of the legal phrase given below:
Ad idem

(A) in agreement

(B) by asubsequent act
(C) removal immediately
(D) as per law

78. Direction: Choose the correct meaning of the legal phrase given below:
Perjury

(A) theft/robbery

(B) impersonating/pretending

(C) declassifying government information
(D) misleading on oath

79. Direction: Choose the correct meaning of the legal phrase given below:
House of Lords

(A) King’s Advisory Council of U.K

(B) Upper House of Parliament of U.K

(C) First Chamber of the U.K. Parliament

(D) House of the Elected Representatives of U.K

80. Direction: Choose the word analogous in meaning.
Cheesy

(A) cute

(B) fashionable
(C) unfashionable
(D) swanky



81. Direction: Choose the word analogous in meaning.

(A)
(B)
©)
(D)

Dialectic

constructive
instructive
argumentative
destructive



82. Direction: Choose the word analogous in meaning.

(A)
(B)
©)
(D)

Big data

large data sets
government data
deep state data
police data logs

83.  Direction: Choose the word analogous in meaning.

(A)
(B)
(©)
(D)

Glean

Discuss
Remove
Collect
Entangle

84.  Direction: Choose the word analogous in meaning.

(A)
(B)
(©)
(D)

Enigmatic

Perplexing
Weak
Dynamic
Eccentric

85. Choose the ANTONYM of the following word.

(A)
(B)
©
(D)

HAPLESS

kind
significant
lucky
distinct

86.  Choose the ANTONYM of the following word.

(A)
(B)
(©)
(D)

LASCIVIOUS

manifest
devout
whip
chaste



87.

(A)
(B)
©)
(D)

88.

(A)
(B)
(©)
(D)

89.

(A)
(B)
(©)
(D)

90.

(A)
(B)
©
(D)

91.

(A)
(B)
(©)
(D)

Choose the ANTONYM of the following word.

ABET

risk
pacify
prevent
condone

Choose the ANTONYM of the following word.

PROFANE

pious
disoriented
flimsy
firm

Choose the ANTONYM of the following word.

PLETHORA

piety
paucity
reasonable
excel

Select the correct ONE WORD substitute for the following.

One who doesn’t consume alcohol

Intrepid
Virago
Teetotaler
Laconic

Select the correct ONE WORD substitute for the following.

One who is a bootlicker, flatterer

Tarot
Sycophant
Beige
Flaccid



92.

93.

94.

95.

96.

97.

Select the correct ONE WORD substitute for the following.
A solution or remedy for all difficulties or diseases

(A) Versatile
(B) Imbroglio
(C) Aikido
(D) Panacea

Select the correct ONE WORD substitute for the following.
One who travels around a lot and has no fixed address or responsibility

(A) Migrant

(B) Peddler

(C) Rolling stone
(D) Land rover

Select the correct ONE WORD substitute for the following.
The practice of taking someone else’s work or ideas and passing them off as one’s own

(A) Mugging
(B) Piracy

(C) Pillage
(D) Plagiarism

Direction: Choose the sentence which is grammatically correct.

(A) The teacher congratulated me on my achievement
(B) The teacher congratulated me at my achievement
(C) The teacher congratulated me over my achievement
(D) The teacher congratulated me for my achievement

Direction: Choose the sentence which is grammatically correct.

(A) Sandhavi met Nalina at her way to school
(B) Sandhavi met Nalina on her way to school
(C) Sandhavi met Nalina by her way to school
(D) Sandhavi met Nalina in her way to school

Direction: Choose the sentence which is grammatically correct.

(A) Mohana said, Royal is an expert at making excuses
(B) Mohana said, Royal is an expert over making excuses
(C) Mohana said, Royal is an expert from making excuses
(D) Mohana said, Royal is an expert in making excuses



98.

99.

100.

101.

Direction: Choose the sentence which is grammatically correct.

(A) Vizhalan replied to Thruvan, there is no point in going to the market today
(B) Vizhalan replied to Thruvan, there is no point by going to the market today
(C) Vizhalan replied to Thruvan, there is no point from going to the market today
(D) Vizhalan replied to Thruvan, there is no point to go to the market today

Direction: In the following question, some parts have been jumbled up. You are
required to rearrange theses parts, which are labeled M, N, O and P, to produce the
correct sentence

In life, some rules are (M)/As business (N)/ They seem almost instinctive (O)/Learnt
so early that (P)

(A) OPMN
(B) NMPO
(C) MNOP
(D) OPNM

Direction: In the following question, some parts have been jumbled up. You are
required to rearrange theses parts, which are labeled M, N, O and P, to produce the
correct sentence

However (M)/still held their own in foreign markets (N)/in spite of these laws
(O)/Indian silk and cotton textiles (P)

(A) MNOP
(B) OPMN
(C) OMPN
(D) NMOP

Direction: In the following question, some parts have been jumbled up. You are
required to rearrange theses parts, which are labeled M, N, O and P, to produce the
correct sentence

Not to talk to him (M)/I wanted to tell her (N)/But she would (O)/Not to listen to
me (P)

(A) MNOP
(B) NMOP
(C) OPNM

(D) PONM



102.

103.

104.

105.

106.

107.

Direction: In the following question, some parts have been jumbled up. You are
required to rearrange theses parts, which are labeled M, N, O and P, to produce the
correct sentence

Each culture, flourishes when it comes (M)/Own tradition (N)/ Drawing strength from
its (O)/Into contact with others (P)

(A) ONMP
(B) NMOP
(C) MNOP
(D) PONM

Direction: Choose the Odd man out from the options given below:

(A) Shoes

(B) Sandal
(C) Glove

(D) Boot

Direction: Choose the Odd man out from the options given below:

(A) Bark
(B) Roar
(C) Sing

(D) Hawl

Direction: Choose the Odd man out from the options given below:

(A) Iron

(B) Mercury
(C©) Aluminum
(D) Copper

Direction: Choose the Odd man out from the options given below:

(A) Volcano
(B) Tsunami
(C) Earthquake
(D) Explosion

Direction: Fill in the blanks with most suitable adverb from the options given below:

The car accident ............ crashed the cars

(A) almost
(B) often



108.

109.

110.

I11.

112.

(C) quickly
(D) fastly

Direction: Fill in the blanks with most suitable adverb from the options given below:
Tipu Sultan fought ............. against the Britishers

(A) fastly

(B) safely

(C) quickly

(D) courageously

Direction: Fill in the blanks with most suitable adverb from the options given below:
He............ goes there. Nobody has seen him there

(A) ever

(B) always
(C) seldom
(D) slowly

Direction: Fill in the blanks
I will write a letter to you tentatively ............. the dates of the programme

(A) involving
(B) featuring

(C) focussing
(D) indicating

Direction: Fill in the blanks

Four independent ............ testified to seeing him at the scene of the crime

(A) person
(B) witness
(C) spectator
(D) attendant

Direction: Fill in the blanks
The police ............. the mob

(A) scattered

(B) disbursed
(C) drove

(D) dispersed



113. Direction: Fill in the blanks

My professor keeps all his

(A)
(B)
©)
(D)

Required
Necessary
Useful
Confidential

paper under lock and key



114. Identify the correctly spelt word from the options given below

(A) Bouquete
(B) Boquet
(C) Bouquet
(D) Bouquette

115. Direction: Choose the proper Article
I go to Madurai by ............. Vaigai Express

(A) a

(B) an
(C) some
(D) the

116. Direction: Choose the proper Article
India will become ............ super power shortly

(A) a

(B) an

(C) the

(D) No article

117. Direction: Choose the proper Article
Tajmahal is built of ............ marble

(A) a

(B) an

(C) the

(D) No article

118.  Direction: Choose the proper Article
Let us go to a restaurant and have ............. coffee

(A) a

(B) an

(C) the

(D) No article



119. Direction: Choose the proper Article

Please give me ............ useful gift
(A) an
(B) a
(C) the

(D) No article

120. Direction: Fill in the blanks with suitable preposition
I came to live here ............ 1992

(A) in
(B) it

(C) by
(D) on

121. Direction: Fill in the blanks
Weask for............ from others, yet we are never merciful ourselves
(A) clemency
(B) culpability
(C) sincerity
(D) consideration
122.  Direction: Fill in the blanks
Overindulgence ............. character as well as physical stamina

(A) strengthens
(B) stimulates
(C) debilitates
(D) provides

123.  Direction: Fill in the blanks
In order to photograph ............. animals elaborate flashlight equipment is necessary
(A) predatory
(B) wild

(C) nocturnal
(D) live



124.

125.

126.

127.

128.

Direction: Fill in the blanks

.......... directions misled us, we did not know which of the two roads to take

foolish
complicated
ambiguous
arbitrary

Select the ANTONYM word for

(A)
(B)
(©)
(D)

IRASCIBLE

Cranky
Bellicose
Pictorial
Good-natured

GK/CURRENT AFFAIRS

‘PARAM Shakti’, the Petascale Supercomputer was developed under the National
Supercomputing Mission (NSM) was inaugurated on

(A)
(B)
©)
(D)

26 March, 2022 at IIT, BHU, Varanasi

27 March, 2022 at IIT, Bombay, Maharashtra
27 March, 2022 at IIT, Kharagpur, West Bengal
29 March, 2022 at IIT, Ropar, Punjab

Which of the following European country elected their first ever woman President on
March 10®, 20222

(A)
(B)
©)
(D)

Finland
Georgia
Hungary

Czech Republic

Which of the following IPL franchise became India’s first Unicorn Sports Enterprise?

(A)
(B)
(&)
(D)

Chennai Super Kings
Mumbai Indians

Kolkata Knight Riders

Royal Challengers Bangalore



129.

130.

131.

132.

133.

134.

The 24" International Symposium on Plantation Crops (PLACROSYM) took place in
which of the Indian city?

(A) Pantnagar, Uttarakhand
(B) Bhagalpur, Bihar

(C) Kochi, Kerala

(D) Dharwad, Karnataka

Who was the first woman Judge of the Supreme Court of India?

(A) Gyan Sudha Mishra
(B) Fathima Beevi

(C) Ruma Pal

(D) Sujata Manohar

On which day is the ‘International Youth Day’ celebrated?

(A) 12" January
B) 14" September
(C) 12" August
(D) 26" July

The Rani-ki-Vav (The Queen’s stepwell) which is even featured in the new Hundred
Rupee Note of India is situated in which State?

(A) Madhya Pradesh
(B) Odisha

(C) Gujarat

(D) Mabharashtra

Who is known as the ‘Father of Local Self Government’ in India?

(A) Josiah Child

(B) Sir Charles Metcalfe
(C) Lord Ripon

(D) C.F. Andrews

The term “Fourth Estate” refers to

(A) Tax

(B) Heritage Buildings
(C) Legislature

(D) Press



135.

136.

137.

138.

139.

140.

Earth is known as

(A) The Blue Planet
(B) The Black Planet
(C) The Green Planet
(D) The Red Planet

The first Open University in India was set up in

(A) Andhra Pradesh

(B) Delhi
(C) Tamil Nadu
(D) Kerala

What is the full form of USB?

(A) Universal Serial Block
(B) Universal Serial Bus

(C) Universal Security Bus
(D) Universal Security Block

Which city in known as the city of festivals?

(A) Kancheepuram
(B) Madurai

(C) Jaipur

(D) Varanasi

Who is current secretary general of the United Nations?

(A) Javier Perez de Cuellar
(B) Kofi Annan

(C) Ban-Ki-Moon

(D) Antonio Guterres

Where was India's first 'Voter Park' inaugurated?

(A) Nagpur
(B) Mohali
(C) Gurugram
(D) New Delhi



141.

142.

143.

144.

145.

146.

New National Education Policy (NEP 2020) is based on the report of

(A) Kasturirangan Committee
(B) Nandan Nilekani Committee
(C) V G Kannan Committee

(D) Girish Bapat Committee

Which Indian cricketer won the ‘Man of the Match’ award in the 1983 Cricket World
Cup Final?

(A) Kapil Dev

(B) Roger Binny

(C) Balwinder Sandhu
(D) Mohinder Amarnath

Under which Viceroy was the Indian Universities Commission set up in 19027

(A) Lord Curzon

(B) Lord Minto

(C) Lord Hardinge
(D) Lord Chelmsford

What is the name of the new dwarf planet which was discovered in 2005?

(A) Eris
(B) Erin
(C) Eros
(D) Eric

The Supreme Court at Fort William in Calcutta was established by which Act?

(A) Regulating Act of 1773
(B) India Act of 1784

(C) Charter Act of 1793
(D) Charter Act of 1813

Who is the author credited with composing the classical Tamil epic Silappatikaram?

(A) Agastya

(B) Ilango Adigal

(C) Chithalai Chathanar
(D) Tholkapiyyar



147.

148.

149.

150.

Janaki Ammal was the first Indian woman to get a Ph.D and an honorary D.Sc. from
the University of Michigan in which subject?

(A) Physics

(B) Mathematics
(C) Chemistry
(D) Botany

The Emblem of India (Prohibition of Improper Use) Act was implemented in the year

(A) 2006
(B) 2004
(C) 2005
(D) 2003

Which one of the following Article directs State Governments to organize Village
Panchayats?

(A) Article 32
(B) Article 40
(C) Article 48
(D) Article 51

Supreme Court has decided to examine the constitutional validity of Citizenship
Amendment Act. Which part of the constitution deal with citizenship?

(A) PartI
(B) Part II
(C) Part III
(D) Part IV
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